Maths Day 2 Week 1
[bookmark: _GoBack][image: ][image: ]



[image: ][image: ][image: ]












	
[image: ]
image5.png
1

Here is a coordinate grid with three vertices of a
rectangle drawn on it. What are the coordinates of the
fourth vertex?
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3. Here is part of the bus timetable from Riverdale to Mott
Haven.

Riverdale 10:02 10:12 10:31 10:48
Kingsbridge 10:11 | 1021 | 10:38 | 10:55
Fordham 10:28 | 10:38 | 1054 | 11:11
Tremont 10:36 | 1044 | 11:00 | 11:17
Mott Haven 10:53 | 11:01 | 11:17 | 11:34

How long does it take for the 10:48 bus from
Riverdale to reach Mott Haven?
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3. There are 12 children at Paul’s
birthday party. Paul’s mum gives
them all a drink of juice. Each

glass contains 275ml. Paul’'s mum
has 4 litres of juice. How much
juice will she have left? )
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